
0

0.5

1

1.5

2

2.5

3

0 200 400 600 800 1000

V
el

o
ci

ty
 [m

/s
]

Discharge [m3/s]

V_meas [m/s]

V [m/s]

NaNs

Legend

Regression Equation:
V(1/3)= a + b ∙ log(Q)

a = -2.591
b = 1.375
R2 = 0.9162

Figure 1. Linear regression calculated in MATLAB (Mathworks 2022), showing the fit of measured 
(V_meas) and modelled (V) velocities. A high R2 value indicates a good fit, however this dataset 
includes only 3 months of measured velocities in winter; missing data are represented as NaNs
(not a number) for the missing 9 months and when frazil ice was present in January.


